FT=74vh"C1SYU—-X

EEYZ

@3IVHAX
A T F HX ¢
5 E ?ié 7 #?%rb% L A %‘iég —&iE D d1 BEEE | EHE
(mm) (R M) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (9)
EC3-M5-C1S 3 M5X0.8 13.0 3.0 11 55X6.0 56 15 2.0 2.0
EC4-M5-C1S 4 M5%0.8 205 4.0 14 10.0X11.0 10.0 2.0 3.0 6.0
EC4-R1/8-C1S 4 R1/8 205 8.0 14 10.0X11.0 10.0 25 4.0 7.0
EC6-M5-C1S 6 M5X0.8 243 4.0 15 12.0X13.0 12.0 2.0 35 9.0
EC6-R1/8-C1S 6 R1/8 227 8.0 15 12.0X13.0 12.0 4.0 10.5 9.0
EC6-R1/4-C1S 6 R1/4 257 11.0 15 14.0X15.4 12.0 4.0 10.5 18.0
EC8-R1/8-C1S 8 R1/8 29.3 9.0 16 14.0X15.4 13.9 6.0 20.0 14.0
EC8-R1/4-C1S 8 R1/4 263 11.0 16 14.0X15.4 13.9 6.0 25.0 16.0
EC10-R1/4-C1S 10 R1/4 292 11.0 19 17.0X18.5 17.0 8.0 40.0 21.0
EC10-R3/8-C1S 10 R3/8 30.2 12.0 19 17.0X18.5 17.0 8.0 40.0 29.0
EC12-R3/8-C1S 12 R3/8 31.1 12.0 20 19.0X21.0 19.0 10.0 50.0 31.0
g EC12-R1/2-C1S 12 R1/2 34.1 15.0 20 22.0X24.5 19.0 10.0 50.0 58.0
g O FHAX
btz | T F HX ¢
5 B 7‘;“;7 #’%rux L A %iég —EiE D di BIME | HE
Ml T (inch) (M) (mm) (mm) (mm) (mm) (mm) (mm) (mm?) ()
EC1/8-M5-C1S 1/8 M5X0.8 16.0 35 11 8.0X8.8 8 25 — —
ES
R A
HRryMtE
| x2ax5%
@IUH1(X
Pl T F HX ¢
82 ?5}}1; 7 #?Q{Ux L A %iég — i D HETETE Hi
(mm) (R) (mm) (mm) (mm) (mm) (mm) () (@)
b_ EFC4-R1/8-C1S 4 R1/8 25.0 8.7 14 14.0X15.4 10.0 4.0 16.0
Z EFC6-R1/8-C1S 6 R1/8 26.1 8.7 15 14.0X15.4 12.0 10.5 17.0
= EFC6-R1/4-C1S 6 R1/4 306 13.0 15 17.0X18.5 12.0 10.5 26.0
a EFC8-R1/4-C1S 8 R1/4 32,0 13.0 16 17.0X18.5 14.0 25.0 28.0
A EFC10-R1/4-C1S 10 R1/4 35.0 13.0 19 17.0X18.5 17.0 40.0 34.0
Y EFC10-R3/8-C1S 10 R3/8 355 13.5 19 22.0X24.5 17.0 40.0 50.0
I\ EFC10-R1/2-C1S 10 R1/2 395 17.5 19 24.0X26.5 17.0 40.0 56.0
EFC12-R3/8-C1S 12 R3/8 36.4 13.5 20 22.0X24.5 19.0 50.0 50.0
EFC12-R1/2-C1S 12 R1/2 40.4 17.5 20 24.0X26.5 19.0 50.0 58.0
Hxé { L
® n
I 90° T )Lk
@3IVH(X
5 T
& E *?;27' Lol u | e | k| e | oA ;{ég Taal o | o |miva | =z
(mm) [(R-M) | (mm) (mm) (mm) | (mm) (mm) | (mm) [ (mm) | (mm) [ (mm) | (mm) | (mm?) ()
EL3-M5-C1S 3 |mMsx08| 125 | 130 | 164 | 162 | 35 11| 717 | 63 25 1.5 1.5 —
EL4-M5-C1S 4 |M5xX0.8| 177 | 205 | 232 | 255 | 4.0 14 |[100x110| 97 2.0 2.0 3.0 7.0
EL4-R1/8-C1S 4 R1/8 | 177 | 225 | 232 | 275 | 80 14 [100xi10| 97 5.0 3.0 4.0 9.0
EL6-M5-C1S 6 |mM5X08| 189 | 225 | 254 | 200 | 4.0 15 |120X130| 125 | 20 2.0 35 | 100
EL6-R1/8-C1S 6 R1/8 | 189 | 250 | 254 | 315 | 80 15 |120X130| 125 | 5.0 50 | 120 | 180
EL6-R1/4-C1S 6 Ri/4 | 189 | 290 | 266 | 355 | 11.0 15 |140xi54| 125 | 7.0 50 | 120 | 180
EL8-R1/8-C1S 8 Ri/8 | 211 | 270 | 288 | 345 | 80 16 |140X154| 145 | 65 65 | 185 | 150
EL8-R1/4-C1S 8 Ri/4 | 214 | 300 | 288 | 375 | 120 16 |140Xi54| 145 | 65 65 | 230 | 200
EL10-R1/4-C1S | 10 | R1/4 | 250 | 370 | 343 | 460 | 120 19 |170x185| 175 | 80 80 | 345 | 270
EL10-R3/8-C1S | 10 | R3/8 | 250 | 370 | 343 | 460 | 140 19 |170x185| 175 | 9.0 80 | 370 | 330
EL12-R3/8-C1S | 12 | R3/8 | 267 | 385 | 372 | 485 | 140 20 [19.0x210| 20.0 | 100 | 95 | 430 | 39.0
i i EL12-R1/2-C1s | 12 | R1/2 | 267 | 415 | 387 | 515 | 16.0 20 |220x240| 200 | 120 | 95 | 430 | 56.0
LT 2
. Tt O FHAX
—| s | i I/ @R | T Fo_| Hxg
R 2 % P57\ Pl v | e | u | | A |ZigY|cEs| o | o |RieE|meE =R
<I L \M (inch) | (M) (mm) | om) | mm) | mm) | mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) (@)
gt T EL1/8-M5-C1S | 1/8 |M5X0.8| 145 | 13.0 19 17 35 11 |80x88| 8 25 25 — —
M4 U
A<}

J $d1
T/ 148 | \#izfrobfdz

114



